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Questions

The population has increased by 6% since 1970

The meaning of the stem traditis:

Which one of the following cannot be used for the suffix -ure?

The band are bringing..... a new album in the new year

To Darwin we

He was told not to laugh at policemen

Choose the best available substitute word for the following root/prefix:Poly-

The Teacher compared the poet.............. a bird

"l like James. He is quick on the.......... You only have to tell that guy how to do something

once.He understands the importance of something and how it works very quickly," Jack said
to his assistant.

"Comparing the two essays on space exploration, Zaid’s argument is more convincing than
Ali's."
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. Present
. Infinitive

-ing
-ed

chance

hand over, deliver
stand, place

fall

lect
fiss
depart
polit

over
down
out

up

have owed the change
owe the change

owing the change
have owed the change

-ed

-ing
Infinitive
Past

bad
little
many
self

of
to
with
for

intake
uptake
second take
take

. Faulty comparison
. Dangling modifier
. Comma splice

. Run-on sentence



